[ Efficiency vs vertpos |
~ 0.2

20.18F
g o
>‘0.16_—
U -
_50.14_—
O
£0.12f
0.1~
0.08F
0.06
0.04
0.02

T T T I T IT]7

1.0

L
. | .

1%;—::—:?- - o Lo B =3 it - - - -
B B Y B

0.95
1072 107 1

Ratio

10 0?
TP vertr (cr%)

—=— DQM_IT__onignal
—e— DQM_TT__0pt09_PU3

o DQM_TT _1pt09_PU3
[Efficiend —— BoM-TT—2htod P03

~ 0.2
TPE SN N . -

[d _ . . . . .
e B SRS R S
> r : : : : :

2 E : : : : :

F e S S S A
(8] L . . . .

002w eheee et
5} o . H : :

-
o f
Y01 SRS | [ S SO
0.04F |-+ '

0.02
Vel

IIIIIIIIIIII
%
—--
.
o
———
N
&

Ratio

[y
TTTT] T

-20 -10 0 10 20 30
TP vert z (cm)

o

I8
[’
o

[ Efficiency vs. sim PV z |
~n 0.2
> R R

O 0.18 - rrerrrrieees A cTTTTT R e
€ o : : : : :
7R SRS Sl S SRS S S S

IRV RN TN S TS S T o

N R
O e SRR SRR SRR N
[} o . . . . . . h
= O e SR AR S A
) F : : : : : :

O e A S A

e

0.04F i+ + ------ Boesedeee g
r . : ¥ L . .
0.02F |- T #50m waPsioe!
A SRR TR R T
o +Wf :
I r :
o F -
1_— ----- :---:r--:%-m:-:r , ;: 21
051510 -5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


